Factoring Tips 
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Solve by factoring completely.
3.4x2-1=0 4.27x3+1=0
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Solve by factoring completely.

5.216x3-125=0 6.20x3 + 12x2-5x -3 =0




image98.png




image99.png




image100.png




image101.png
+30x + 25




image102.png
3oy




image103.png
‘{—5: D




image104.png




image9.png
Terms




image105.png




image106.png
(5\4+5)‘- 0




image107.png
(4¢-1)(ox+3)=0




image108.png
(bx-5)( )




image109.png




image110.png
(2x.4 Y 2xN{Bx+3)=0




image111.png
30 (Y- 43929
2(34




image112.png




image113.png




image114.png
ATIES




image10.png




image115.png




image116.png




image117.png




image118.png
A SIS Y
S\(‘*S‘D




image119.png




image120.png




image121.png
X= "3 /e




image122.png
1
Rlg
-+
129
2
gl

¢
u
o

|

=
=~




image123.png




image11.png




image124.png




image125.png
- 3D *3pul3




image12.png
0. "= (urlo ) (& o)




image13.png




image14.png




image15.png
| Sum




image16.png




image17.png




image18.png
terms




image19.png




image20.png




image21.png
Growp Tt




image22.png
teyms S




image23.png




image1.png
-ob +V)




image24.png




image25.png




image26.png




image27.png
Solve by factoring completely.

1.x2+15x+56 =0 2.2x2+13x-7=0
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